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- asx | -
7 N v g x| awd w
A (1,000) 116 68.9 173 22 80.5 195
. = (496) 117 69.4 l6.l 28 81.0 19.0
°= 0fd (504) 115 68.5 185 16 80.0 20.0
19-294 (179) 112 68.7 20.1 0.0 79.9 201
30cH (183) 7.7 69.4 19.7 33 77.0 23.0
o 40CH (208) 125 67.3 17.8 24 79.8 20.2
50CH (198) 126 69.7 15.2 25 82.3 17.7
60CH O|Af (232) 134 69.4 147 26 82.8 17.2
ME (199) 141 744 10.6 1.0 884 116
OI=/ZA7| (296) 13.2 64.5 213 1.0 777 223
A2/ EE (156) 10.9 67.9 199 13 78.8 21.2
/45 /42 (131) 4.6 85.5 6.1 3.8 90.1 9.9
/MBS /=H (103) 117 515 36.9 0.0 63.1 36.9
4F/Met/ T (115) 122 68.7 104 8.7 80.9 191
uge: PN (453) 104 717 16.3 15 82.1 179
g'tﬂ AT (466) 133 65.7 18.2 2.8 79.0 210
- =X (81) 8.6 716 173 2.5 80.2 198
SIO0|EZEL (236) 119 712 157 13 83.1 16.9
S5zt (216) 116 68.1 185 19 79.6 204
ArE (197) 9.6 721 137 46 81.7 183
ESpel-| HATH (200) 125 65.5 20.0 20 78.0 220
Shd (89) 101 719 18.0 0.0 82.0 18.0
SEOY 9) 333 55.6 111 0.0 88.9 111
Bx/7|E} (53) 13.2 60.4 226 3.8 73.6 264
Xsstu &Y 0|8} (35) 114 714 8.6 8.6 82.9 171
Zotu £ (78) 10.3 65.4 20.5 3.8 75.6 244
nsstn ¢ (399) 123 66.7 198 13 789 211
CHsr Ms/E (460) 10.9 715 154 22 824 17.6
Chekel xysk oAt (25) 20.0 64.0 16.0 0.0 84.0 16.0
E/28Y 3) 0.0 66.7 0.0 333 66.7 333
2009H O)at (86) 128 60.5 244 23 73.3 26.7
200-3002H3 O]2t (188) 8.5 70.7 186 21 79.3 20.7
300-4002H2 OJ2t (273) 9.2 65.9 20.1 4.8 75.1 249
e 400-5002t<] 0|3t (221) 122 733 136 0.9 85.5 145
T 500-600%te) O|gt (147) 136 721 136 0.7 85.7 143
600-7002H 0|0t (44) 18.2 70.5 114 0.0 88.6 114
7002+ Of &t (39) 179 64.1 179 0.0 82.1 179
DE/FESY 2) 100.0 0.0 0.0 0.0 100.0 0.0
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L& Hagle (362) 9.1 69.3 19.1 25 785 215
oz AtOf e (483) 14.7 731 106 17 87.8 122
OfAt ole (517) 8.7 65.0 236 27 73.7 263
ole (385) 109 65.7 205 29 76.6 234
e 1-33] (450) 111 718 15.1 20 829 17.1
34 4-93| (128) 133 703 14.8 16 836 164
10%| O|At (37) 189 62.2 189 0.0 811 189
37 #3392 (246) 154 736 10.2 0.8 89.0 11.0
7|15 Hagle (754) 10.3 67.4 196 2.7 77.7 223
H 2R Hade (143) 217 64.3 133 0.7 86.0 14.0
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R (195) 231 200 17.4 159 133 103
- A (94) 17.0 223 181 160 138 128
°= oA (101) 287 178 16.8 15.8 129 79
19-294 36) 278 306 139 83 56 139
30c} @2) 333 143 143 143 71 167
ol 40c) @2) 190 190 19.0 190 167 7.1
5oL (35) 17.1 229 17.1 257 114 57
60CH OfAk (40) 175 150 25 125 250 75
Ne 23) 304 261 43 43 304 43
ol %,/ 77| (66) 212 303 121 136 121 106
o | TAEMEY (33) 394 212 182 152 30 30
iz (13) 154 154 231 77 154 231
CHR S/ (38) 184 105 184 211 184 132
Y e 22) 91 0.0 409 318 45 136
ZHoiA| 81) 247 24.7 16.0 136 160 49
ﬁ{(f'.g ZATA| 98) 214 163 17.3 184 112 153
2R (16) 250 188 250 125 125 63
sjo|EZa} (40) 150 250 125 200 150 125
TN 44 250 205 182 136 114 114
XFo10f 36) 306 139 250 83 139 83
|0y mMojZmE 44 205 27 182 159 136 9.1
ShAl (16) 313 250 125 188 0.0 125
=210/9] M 0.0 0.0 0.0 100.0 0.0 0.0
ox|/7|E} (14) 214 71 143 214 286 71
xSstm =9 0|3t (6) 167 0.0 50.0 0.0 333 0.0
=etm =9 (19) 211 263 158 105 1538 105
o | DS FY (84) 274 26 155 167 119 6.0
TU2 gt xpsysy (81) 198 17.3 17.3 173 123 160
istel s oAb (@) 250 250 250 0.0 250 0.0
=z/m2g M 0.0 0.0 0.0 100.0 0.0 0.0
2000kl Ojat 23) 261 174 130 17.4 217 43
200-3003t8l Ojat | (39) 17.9 205 128 154 154 17.9
300-4000k% O[3k | (68) 17.6 250 235 191 59 838
ASY  400-5000b% O[3t (32) 188 156 156 219 188 94
500-6000K% D[t (21) 381 190 19.0 48 95 95
600-7000t1 DTt (5) 40.0 200 0.0 0.0 400 0.0
7002t8] O|A} @) 57.1 0.0 143 0.0 143 143

— 100 —



N §-EI Lt2} g|Lf2}
Tl XN i S EES Ll ;?—EI Li2to
A= go| |EE|s 7|29 e | EZF 27}
Sid EZHN  mEMol o] XFOFA]
EE3HM Zofi M

(195) 20.0 15.9 103
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<H IV-2> R2|L{E7t 7Y 2atNo R X|YQE & e oYX 20f (B+3H)
ozb |
o= 5o 28 am
i} x| B8 77

A (1,000) 59.0 225 205 126 118 91 89 39 34
- kA (496) = 569 216 185 141 127 93 95 38 38
°= oA (504) | 61.1 234 224 111 109 89 83 40 30
19-294| 179) | 542 190 235 128 179 50 @ 95 22 | 50
30LH (183) | 612 169 | 230 120 153 120 71 27 @ 33
SEE 40t} (208) = 59.1 250 149 139 115 101 87 @ 43 24
50CH (198) 621 232 212 111 101 61 @ 61 40 @35
60CH O] At 232) 582 267 207 129 60 116 125 56 @ 30
Mg (199) 643 196 | 211 50 90 116 55 20 @ 35
OI%l/Z 7| (296) = 60.1 149 179 101 162 118 44 14 @ 27
HAYSA/AY | (156) 6238 308 308 103 96 90 96 38 71
[f/z2=/49 | 131) 641 275 252 107 46 15 76 61 23
CHR/ME/ES | (103) 544 243 107 194 204 155 204 68 @ 39
Z=/MEYHZE (115) 400 287 157 313 87 09 165 87 09
ZHOIA| (453)  56.5 221 236 113 95 93 73 35 35
ZALA (466) 618 236 170 144 150 94 92 | 30 @ 24
2X| 8l) | 56.8 185 235 99 62 62 160 111 86
slo|E 2t} (236) 534 263 182 123 119 119 89 21 13
gagta) 16) 602 213 185 125 134 83 88 32 69
pRe L (197) 645 183 188 112 81 81 76 81 | 36
x| o1 Molzu (200) 610 270 230 120 90 115 100 40 @25
SHAY (89) | 55.1 157 | 315 135 213 11 90 22 | 34
=210{9 9 | 667 222 222 222 111 111 00 00 @ 00
Dxl/7|E} (53) | 566 208 170 189 132 75 113 19 19
XEstm =9 0[5} (35 686 314 229 171 29 | 29 143 29 00
=stn = (78) | 64.1 231 179 128 77 115 103 51 @ 26
N IESD Y (399) 604 248 193 100 110 95 98 53 48
= CHst XH&/ZEQ | (460)  56.3 207 222 148 133 87 @ 80 28 26
CHEHSl XS O]AF | (25) @ 56.0 40 120 80 240 120 00 @ 00 | 00
2/o9ct 3) | 667 333 333 00 00 00 00 00 @333
2000l Ojgt | (86) 709 267 198 105 105 23 | 128 23 23
200-3000+Y O|Tt  (188) 57.4 191 202 106 128 106 106 64 @ 32
300-4002+%) OjBF | (273)  57.1 231 161 154 121 103 106 48 @ 37
e | 400-5008bl DjRE (221) 611 204 213 127 100 113 81 23 45
= 500-6000HY O[T | (147) | 53.1 279 286 102 116 82 54 41 @ 34
600-7000+% O[Tt | (44) 614 227 91 159 205 91 @ 45 00 00
70028l OjAF | (39) | 615 154 308 128 103 00 26 26 | 26
pE/ooct 2 | 500 500 500 00 00 00 00 00 @ 00
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1-33 450) 582 460 200 213 118 122 109 71 | 42 38
4-93| (128) 539 5L6 234 203 125 78 70 102 63 23
103| O|At 37) 595 568 162 324 81 108 108 27 | 00 00
HEe (246) 589 476 244 244 138 89 85 49 | 12 16
Hsgle (754) 590 432 219 192 122 127 93 102 @48 40
Asiole (143) 538 462 238 196 98 126 133 105 28 28
Hegle ®857) 599 440 223 207 131 117 84 86 41 35
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<E V-3> WHLT NS 71 ZUNoR +u + Ut 7B

= A ¥l wzew maole | EHSES
A (1,000) 443 298 14.9 11.0
" e (496) 4338 308 14.9 10.5
°= o1 (504) 4438 28.38 14.9 115
19-294 (179) 402 30.7 15.1 14.0
301} (183) 388 344 14.2 126
L 40r} (208) 4338 327 14.4 9.1
50T} (198) 490 288 14.6 76
60 0|4 (232) 483 237 159 121
Ne (199) 402 347 9.0 16.1
oI/ 27| (296) 395 311 209 8.4
ey | TEEE (156) 39.7 308 122 17.3
Ch /2 =/2 2 (131) 534 374 15 756
Ch/ M /EH (103) 379 194 35.9 6.8
2z/MalRIE (115) 65.2 17.4 96 7.8
ETS (453) 413 36.2 10.6 11.9
Jo SATA| (466) 481 227 18.2 109
2x| (81) 395 346 19.8 6.2
sto|EZa} (236) 4238 347 123 10.2
sazt3 (216) 486 208 167 139
xFeIQ] (197) 431 376 11.2 8.1
eSIT Mojzms (200) 490 265 14.0 105
S (89) 404 326 16.9 101
=20/ 9 333 11.1 222 333
2xl/7|E} (53) 283 264 321 132
xSstm =9 0|5} 35) 62.9 86 57 229
zstn =9 (78) 500 269 167 6.4
sy | DSTE B9 (399) 474 231 17.8 118
TS s xs/Ey (460) 39.3 372 13.0 104
Chstel T3k O] AL (25) 44.0 40.0 8.0 8.0
z/e8g 3) 333 333 333 0.0
2008+l Ot (86) 419 209 19.8 174
200-3008tg O|ot (188) 463 271 16.5 101
300-4008+g O|at (273) 50.9 260 128 10.3
e | 400-5008tg O|gt (221) 448 353 13.1 6.8
== 500-6008+e O3t (147) 367 347 136 150
600-7008+g O|at (44) 341 318 250 9.1
7002+l 0| A} (39) 333 359 154 154
mE/ngg ) 0.0 50.0 0.0 50.0
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oo (504) 55.6 331 22.8
19-294 179) 514 313 223
30CH (183) 55.7 344 257
40CH (208) 58.2 37.0 22.6
50CH (198) 55.6 343 26.3
60CH O|At (232) 56.5 36.2 224
MNE (199) 55.3 39.2 241
oI/ 27| (206) = 605 = 466 152

2A/240 8 (156) 50.6 237 27.6
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| H
Cjst Xysh/=Q  460) 550 335 239

k>
i
nE

Chekel xysk of At (25) 480 44.0 24.0
=/78Y 3) 66.7 333 0.0
2002+e] O|ot (86) 55.8 337 18.6
200-3002+2) O|2F | (188) 50.5 324 234
300-4002+ O|2F  (273) 60.8 344 304
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A (1,000) 89.6 424 16.5 104 9.7 6.6 42 0.1
1t kA (496) 87.7 446 19.2 9.1 8.3 7.3 52 0.2
c= (0: ] (504) 91.5 40.3 139 11.7 111 6.0 3.2 0.0
19-294 179) 81.0 67.0 84 7.8 84 2.8 7.3 0.0
30CH (183) 83.6 55.7 14.2 9.8 104 3.8 3.8 0.0
oy 40LCH (208) 904 457 16.8 9.1 7.7 7.7 5.8 0.0
50CH (198) 929 313 17.2 12.1 14.6 5.6 25 0.5
60CH O|At (232) 974 194 23.7 125 7.8 116 2.2 0.0
SE= (199) 824 46.2 216 8.5 6.0 4.0 25 0.0
OIR/4d7| (296) 93.2 47.0 16.9 15.9 64 54 7.1 0.0

SA/Z2M/EYE (156) 95.5 494 16.0 45 16.7 45 0.0 0.0
C+/4d=/4¢ (131) 86.3 298 176 4.6 6.9 176 2.3 0.0
CHE/ MBS/ (103) 874 35.0 13.6 194 243 29 49 0.0
A/ E/HF= (115) 904 357 8.7 6.1 5.2 7.8 7.0 0.9

ile:PN| (453) 88.1 424 16.8 91 11.0 40 18 0.0
BAEA (466) 923 41.6 16.5 12.0 8.6 7.5 6.7 0.2
=X (81) 827 46.9 14.8 8.6 8.6 16.0 3.7 0.0
SlO|EZEL (236) 84.7 534 127 9.7 110 51 55 0.0
E2Ze} (216) 944 37.5 153 12.0 10.2 8.3 4.2 0.5
A e (197) 90.9 36.0 22.8 6.6 71 5.6 3.0 0.0
ESpu:| AT (200) 93.0 31.0 16.0 135 135 7.0 2.0 0.0
Skl (89) 80.9 70.8 124 6.7 45 34 6.7 0.0
SO Y €) 66.7 55.6 222 0.0 22.2 222 0.0 0.0
BXl/7|E} (53) 925 30.2 226 17.0 3.8 113 7.5 0.0
x5ctw Y O[St (35) 100.0 29 171 143 8.6 20.0 57 0.0
s8m =

o 78) = 949 167 218 @ 205 64 115 26 0.0
stm =90 (399) 930 348 175 | 105 105 | 80 3.0 03
Cjst xjst/Z9 | 460) 857 | 550 | 143 76 | 100 | 39 54 0.0
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300-4000+9 O|8  (273) | 894 & 388 168 = 92 8.8 6.2 2.2 04

oo A00-5002ke) DjEF  (221) 887 | 498 154 90 131 36 5.4 0.0
T2 500-6000t%l DjEF (147) | 905 | 476 150 116 | 638 6.1 48 0.0
600-7009+l 0|2t (44) 864 = 545 159 114 00 23 9.1 0.0

7009t O] Ak 39 | 795 @ 590 154 103 = 205 @ 51 2.6 0.0
QnE/ogt @ 1000 500 00 00 500 @ 00 0.0 0.0
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- 134 -



SRS0| 1Y Mt B8

'OE”O'Q 28 S2'(39.8%), ‘HAY¥E HE7tE &8 SE'(33.8%), '0[0|X|

| T'__olAAE

o |
s
:
_L
|0+
I
W
N0
O
S
ojn
o

<O V7> fYlEE B2 HEj MSE (243E)
(n=1,000, THel: %)

9.8
33.8 372.9

19.4
| 0.2
wEIU= g2 helH= ojojx] gjFo] FHHIE FHET Z|Ef

—?‘HF’E. =4 =) HEJIZ 880 BYNsH =4

=4
" Sy 2y

© OelEx 82 JH= '28 ?F2 7MY S2'E d=dts HEg2 2= U=28Y 103 oY
(67.6%)01| A H|uWX BRY

o = St =
- ‘7E2s 2ES SE'= A

—
HE7HE &8¢t 8R'= 7

FEEE 2X|Y(53.1%), YEMEI HQX|49.1%)0|AH, TH| X
22 ME2G23%)0M HuY 52 HE2 SEY

- 135 —



201645 ODA =201 9IAl XA}

<E V7> 0QYE B8 HE| ME (2438

_ o5 wape HIE SN awes

74 veie | BRSO Tems GEIE O STY HEd e
= = = zu S
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= oA (504) 56.0 429 323 325 19.0 0.2
19-294 (179) 50.3 413 352 4022 140 06
30r (183) 53.0 443 2638 350 186 05
of 2y 40t} (208) 529 404 389 308 202 0.0
50C) (198) 57.6 399 328 308 212 0.0
60CH 0|4 (232) 586 345 345 293 220 0.0
He (199) 578 432 523 382 176 0.0
oIx/247| (296) 60.8 365 365 348 169 07
o TBMAE ase 59.0 429 301 173 186 0.0
oyze/zY | 31 366 405 275 244 115 0.0
OIR/ME/SY | (103) 485 3838 184 417 350 0.0
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ﬁ{"f"% ESNN (466) 57.9 352 303 354 206 04
2x| 81) 407 531 247 222 296 0.0
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A (19) 474 316 263 211 15.8 5.3
i | 6) 50.0 333 50.0 50.0 167 0.0
= oA (13) 46.2 308 154 7.7 154 7.7
19-294 6) 66.7 167 0.0 0.0 0.0 16.7
30y 6) 66.7 50.0 333 167 0.0 0.0
ST 40t} ) 0.0 0.0 0.0 0.0 100.0 0.0
50CH 3) 333 333 66.7 100.0 0.0 0.0
60CH O] At ) 0.0 50.0 50.0 0.0 50.0 0.0
MNe 6) 333 167 333 167 16.7 0.0
oI/ 27| 3) 333 66.7 333 333 333 0.0
BA/ A ) 100.0 0.0 0.0 0.0 0.0 0.0
CHE/MB/5H ) 50.0 50.0 0.0 0.0 0.0 0.0
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CHEHS XHSH O|At 3) 66.7 333 333 66.7 0.0 0.0
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